Attention

Maytag, Magic Chef, Amana

RV Customers

To order Replacement Parts

Maytag Customer Service
535 Exchange Court
Aurora, IL 60504

Toll Free #..........1 - 877 800 6390

Fax# ..ccceevvvieeee. 1-630 236 5380
Direct # ............ 1-6302365374

To Receive Warranty Labor

Maytag Customer Service
Warranty Department
P. O. Box 4970
Cleveland TN 37320-4970

For Help with Product Usage, Installation or Warranty

Information, please call

1-800 - 544 - 5513






Model Number:

BOM/Serial #: ALY2280BDB

Graphic Title: TOP & GAS CONTROLS
Image Key Part Number Description Substitution
11 74069853 - éLiJRNE'R, OVEN (W/SVHUTI'ER)H 7 " 7
1 1 74004288 SCREW (6ABX3/8-SN)
1 2 74003931 FITTING, ORIFICE (REAR)
1 3 74003930 FITTING, ORIFICE (FRT)
1 4 8007P020-60 GROMMET
1 5 74007304 GRATE, (BLK) SEALED BURNER
1 6 74003967 SEALED BURNER ASSY. (BLK-RV) 12001497
1 7 74003942 KNOB, BURNER (BLK)
1 7 74003941 KNOB, BURNER (BLK)
1 8 74009858 KNOB, THERMOSTAT (BLK)
1 9 1555261K NUT & FERRULE (3/16")
1 9 74009852 BURNER, PILOT RV
1 10 74009856 PIPE, MANIFOLD
1 1 74004235 REGULATOR, PRESSURE 12001285
1 12 74009851 SUPPORT, OVEN BURNER
1 13 8003P008-60 BUMPER
1 14 74009855 THERMOSTAT
1 14 74009877 TUBING 1/4 (RV-22)
1 14 74009876 TUBING 3/16 (RV-22)
1 15 74007300 TOP, MAIN (BLK) 74003928
1 16 74009864 ELBOW BLOCK ASSY.
1 17 71003231 SCREW, VALVE
1 17 12002248 KIT, VALVE & SCREW (MUELLER)
1 17 12002247 KIT, VALVE & SCREW (MUELLER)
1 18 74009848 BAFFLE, RV BURNER
1 19 74004053 IGNITER, TOP BURNER
1 20 74003946 IGNITER, TOP BURNER
1 20 74003947 WIRES, IGNITER
1 21 74003944 KNOB, IGNITER (BLK)
1 22 74004234 FITTING, HALF UNION
1 23 7103P030-60 NUT, WING

ALY2280BDB

Page 1 of 1

Copyright © 2002 Maytag, inc. All Rights Reserved.

NN

N W N






Model Number:

ALY2280BDB

BOM/Serial #: ALY2280BDB

Graphic Title: OVEN

Image

1
1

© © o ©® N O O O O O O A W W N NN

4 a4 a A a a4 a2 a a4 A a4
A A AW W W NN 22O O

Key

Part Number

740039967”
7112P065-60
2205F016-19
74003976
4006W075-80
74003976
7112P004-60
74009875
74009878
74001747
74004883
7101P356-60
74002828
74002827
7803P053-60
7101P356-60
74003934
7101P301-60
7103P109-60
7101P356-60
74003342
74007306
790448
74002829
7101P338-60
74005022
7101P356-60
7101P356-60
7101P338-60
74005023
74003106

Description

CLIP, MAIN TOP

CLIP, OVEN BOTTOM
BOTTOM, OVEN
SCREW, SHOULDER
FLUE BOX ASSY
SCREW, SHOULDER
CLIP, THERMOSTAT
BACK, MAIN (RV-22)
INSULATION, (18 X 20)
SCREW

INSULATION, OVEN WRAP
SCREW

TRIM, SIDE (LT)

TRIM, SIDE (RT)
SPRING, OVEN DOOR
SCREW

BOTTOM, BURNER BOX
SCREW #6 X 1/2

T-NUT (RV HINGE)
SCREW

BOTTOM, MAIN

PANEL, MANIFOLD (BLK)
SCREW (8ABX1/2"-BLK)
SHIELD, DEFLECTOR FLUE (BLK)
SCREW (8BX3/8-NI)
SIDE, BODY (RT)
SCREW

SCREW

SCREW (8BX3/8-NI)
SIDE, BODY (LT)

RACK, OVEN

Page 1 of 1

Substitution

7101P126-60

7101P126-60
74009863

7101P126-60

74009537
71001183
7101P126-60

7101P126-60
71001183

Qty.

NN

N NN

Copyright © 2002 Maytag, Inc. All Rights Reserved.






Model Number: ALY2280BDB
BOM/Serial #: ALY2280BDB
Graphic Title: DOOR

Image Key Part Number Description

1 1 74061 190”7 PANEL, DOOR (BLK)
1 2 74003929 HANDLE. DOOR (BLK)
1 3 74004069 SCREW (#10 X 3/4")

1 4 74004069 SCREW (#10 X 3/4")

1 5 12400028 HINGE KIT (LT)

1 5 12400029 HINGE KIT (RT)

1 6 74004228 LINING, DOOR

1 7 3423F001-34 ARM, SPRING

1 8 7212P014-60 SEAL, DOOR (TOP)

1 9 7212P039-60  SEAL, DOOR (SIDES)

7101P124-60
8010P073-60
74003460

7902P266-60
7101P040-60
7112P093-60
7002P102-60

-
- 4
- O

SPACER, HANDLE
SPACER, NYLON (BLK)
GLASS. DOOR

SCREW (1/2")

CLIP, GLASS (BLK)
INSULATION, OVEN DOOR

a4 a4 A - A
- A A - o
A AW N

Page

SCREW W/WASHER (CHR)

1 of 1

Substitution Qty.
1
1
2
2
1
1
1
2
1
1

74003976 4
2
2
1

74009537 2

Copyright © 2002 Maytag, Inc. All Rights Reserved.





